
BODMAS Answers – Week 2  

Section A  

1. 14 

2. 6 

3. 11 

4. 25 

5. 18 

6. 13 

Section B  

1. 40 

2. 40 

3. 51 

4. 81 

5. 30 

6. 14 

7. 12 

8. 42 

9. 25 

10. 28 

11. 8 

12. 81 

13. 62 

14. 3 

15. 104 

16. 9 

Section C 

1. 17 

2. 41 

3. 20 

4. 17 



5. 10 

6. 8 

7. -50 

8. 12 

9. 10 

10. 22 

11. 56 

12. 53 

13. 4 

14. 11 

15. 7 

16. 144 

Section D  

1. 8 + (4 x 6) - 5 =27 

2. 8 + 4 x (6 – 5) = 12 

3. (8 + 4) x 6 – 5 = 67  

Section E  

1. 4 + (4 x 3) = 16 

2. (7 – 6) + 11 = 12 

3. (2 + 2) + 4 =8 or 2 + 2 + 4 = 8 

4. (2 + 2) x 4 = 16  

5. 4 + (3 x 3) =13  

6. 4 x 6 – 4 = 20 or (4 x 6) - 4 = 20 

7. (10 – 3) x 5 = 35  

8. (2 + 4) / 6 = 1  

9. (24 / 2) – 4 = 8 

10. 5 + (4 x 4) = 21  


